# MANATEE COUNTY GOVERNMENT INTENT TO AWARD

IFB NO. / TITLE	IFBC No. 19-TA002946CD- Morgan Johnson Road Sidewalk from 18 Ave E to 13 Ave E- FDOT LAp Project		MC DS	CC BCC	
PROCUREMENT REPRESENTATIVE	Chris Daley, Ext 3048	PROJECTED AWARD DATE	September 10, 2019		
DEPARTMENT/DIVISION	Public Works	AUTHORIZED BY DATE	Chris Daley, Procur	rement Manager	

#### **NOTICE OF INTENT TO AWARD**

The Manatee County Procurement Division provides notice of its intent to award a contract with C-Squared Certified General Contractor, Inc. for the provision of Morgan Johnson Road Sidewalk from 18 Ave E tro 13 Ave E- FDOT LAP Project.

#### **ENABLING/REGULATING AUTHORITY**

Manatee County Procurement Ordinance, Sec 2-26.

#### **BACKGROUND/EVALUATION**

The Work included in this Bid consists of construction of a sidewalk on Morgan Johnson Road from 18th Avenue East to 14th Avenue East on Bradenton, Florida. The Work also includes the construction of approximately one thousand twenty eight (1028) linear feet of twenty four inch storm drain, utility adjustments, and pavement restoration as shown on the plans. All construction on this project shall be in accordance with the latest edition of Manatee Utility and Transportation Standards, and FDOT Standard Specifications for Road and Bridge Construction.

The solicitation was advertised on June 18, 2019 on the Manatee County website and DemandStar. It was also provided to the Manatee County Chamber of Commerce and the Manasota Black Chamber of Commerce for release of its members and in the Bradenton Herald and Tempo newspapers. Responses were received from the following firms:

- 1. C-Squared Certified General Contractors, Inc., Palmetto, FL
- 2. Gator Grading & Paving, LLC, Palmetto, FL.
- 3. Westra Construction Corp., Palmetto, FL.

The following firms were deemed non-responsible: Westra Construction Corp.

#### **EVALUATION SUMMARY:**

C-Squared Certified General Contractors, Inc. was the lowest responsible, responsive bidder. A bid tabulation of the results is attached to this Notice of Intent to Award.

#### **RECOMMENDATION**

The Procurement Division and the Public Works Department recommend award to C-Squared Certified General Contractors, Inc..

INTENT TO AWARD (continued)\_

		P	a	q	е	2
--	--	---	---	---	---	---

ATTACHMENTS (List in order of attached)	Bid Tabulation	NAME AND NUMBER OF FUNDING SOURCE	Gas Taxes
COST	\$571,034.26	FUNDS VERIFIED	Yes

### MORGAN JOHNSON ROAD SIDEWALK FROM 18 AVE E TO 13 AVE E- FDOT LAP PROJECT

C-Squared Certified General
Contractor, Inc. Gator Grading & Paving, LLC

				actor, inc.	dator drauling & Pavilig, LLC			
PAY ITEM NO.	FDOT ITEM NUMBER	DESCRIPTION	UNITS	QTY.	BID PRICE PER UNIT (\$)	TOTAL BID PRICE (\$)	BID PRICE PER UNIT (\$)	TOTAL BID PRICE (\$)
1	0101-1	MOBILIZATION	LS	1	\$55,700.00	\$55,700.00	\$51,000.00	\$51,000.00
2	0102-1	MAINTENANCE OF TRAFFIC	LS	1	\$61,000.00	\$61,000.00	\$39,000.00	\$39,000.00
3	0102-60	WORK ZONE SIGN	ED	1080	\$0.30	\$324.00	\$0.42	\$453.60
4	0102-62	BARRIER MOUNTED WORK ZONE SIGN- INDEX 11871	ED	90	\$0.65	\$58.50	\$0.56	\$50.40
5	0102-74-1	CHANNELIZING DEVICE- TYPES I, II , 01. VP, DRUM, OR LCD	ED	3060	\$0.15	\$459.00	\$0.28	\$856.80
6	0102-74-7	CHANNELIZING DEVICE- PEDESTRIAN LCD (LONGITUDINAL CHANNELIZING DEVICE)	LF	20	\$6.90	\$138.00	\$10.00	\$200.00
7	0104-10-3	SEDIMENT BARRIER	LF	1812	\$4.15	\$7,519.80	\$2.85	\$5,164.20
8	0104-18	INLET PROTECTION SYSTEM	EA	15	\$177.25	\$2,658.75	\$215.00	\$3,225.00
9	0107-1	LITTER REMOVAL	AC	3	\$760.00	\$2,280.00	\$675.00	\$2,025.00
10	0107-2	MOWING	AC	2	\$1,950.00	\$3,900.00	\$1,350.00	\$2,700.00
11	0110-1-1	CLEARING & GRUBBING	LS	1	\$35,000.00	\$35,000.00	\$69,800.00	\$69,800.00
12	0110-7-1	MAILBOX, F&I SINGLE	EA	5	\$228.00	\$1,140.00	\$275.00	\$1,375.00
13	0120-1	REGULAR EXCAVATION	CY	228	\$44.25	\$10,089.00	\$143.00	\$32,604.00
			I		I	I .	U	1

### MORGAN JOHNSON ROAD SIDEWALK FROM 18 AVE E TO 13 AVE E- FDOT LAP PROJECT

C-Squared Certified General
Contractor, Inc.
Gator Grading & Paving, LLC

FDOT							
ITEM NUMBER	DESCRIPTION	UNITS	QTY.	BID PRICE PER UNIT (\$)	TOTAL BID PRICE (\$)	BID PRICE PER UNIT (\$)	TOTAL BID PRICE (\$)
0120-6	EMBANKMENT	CY	239	\$85.00	\$20,315.00	\$157.00	\$37,523.00
0160-4	TYPE B STABILIZATION	SY	136	\$58.00	\$7,888.00	\$45.00	\$6,120.00
0285701	OPTIONAL BASE, BASE GROUP 01	SY	136	\$71.15	\$9,676.40	\$47.00	\$6,392.00
0334-1-52	SUPERPAVE ASPHALTIC CONCRETE, TRAFFIC B,PG76-22	TN	8	\$395.00	\$3,160.00	\$498.00	\$3,984.00
0337-7-81	ASPHALT CONCRETE FRICTION COURSE,TRAFFIC B, FC-12.5, PG 76-22	TN	13	\$477.00	\$6,201.00	\$428.00	\$5,564.00
0425-1541	INLETS, DT BOT, TYPE 0, <10'	EA	13	\$2,100.00	\$27,300.00	\$3,050.00	\$39,650.00
0425-2-61	MANHOLES, P-8, <10·	EA	1	\$1,850.00	\$1,850.00	\$3,100.00	\$3,100.00
0425-2-71	MANHOLES, J-7, <10'	EA	2	\$2,850.00	\$5,700.00	\$4,700.00	\$9,400.00
0430175118	PIPE CULVERT,OPTIONAL MATERIAL,ROUND, 18"S/CD	LF	12	\$200.00	\$2,400.00	\$132.00	\$1,584.00
0430175218	PIPE CULVERT,OPTIONAL MATERIAL,OTHER-ELIP/ARCH, 18:S/CD	LF	529	\$103.80	\$54,910.20	\$53.00	\$28,037.00
0430175224	PIPE CULVERT,OPTIONAL MATERIAL,OTHER SHAPE-ELIP/ARCH, 24"S/CD	LF	1028	\$109.50	\$112,566.00	\$80.00	\$82,240.00
	NUMBER  0120-6  0160-4  0285701  0334-1-52  0337-7-81  0425-1541  0425-2-61  0425-2-71  0430175118  0430175218	NUMBER         DESCRIPTION           0120-6         EMBANKMENT           0160-4         TYPE B STABILIZATION           0285701         OPTIONAL BASE, BASE GROUP 01           0334-1-52         SUPERPAVE ASPHALTIC CONCRETE, TRAFFIC B,PG76-22           0337-7-81         ASPHALT CONCRETE FRICTION COURSE,TRAFFIC B, FC-12.5, PG 76-22           0425-1541         INLETS, DT BOT, TYPE 0, <10'	NUMBER         DESCRIPTION         UNITS           0120-6         EMBANKMENT         CY           0160-4         TYPE B STABILIZATION         SY           0285701         OPTIONAL BASE, BASE GROUP 01         SY           0334-1-52         SUPERPAVE ASPHALTIC CONCRETE, TRAFFIC B,PG76-22         TN           0337-7-81         ASPHALT CONCRETE FRICTION COURSE,TRAFFIC B, FC-12.5, PG 76-22         TN           0425-1541         INLETS, DT BOT, TYPE 0, <10'	NUMBER         DESCRIPTION         UNITS         QTY.           0120-6         EMBANKMENT         CY         239           0160-4         TYPE B STABILIZATION         SY         136           0285701         OPTIONAL BASE, BASE GROUP 01         SY         136           0334-1-52         SUPERPAVE ASPHALTIC CONCRETE, TARFFIC B,PG76-22         TN         8           0337-7-81         ASPHALT CONCRETE FRICTION COURSE,TRAFFIC B, FC-12.5, PG 76-22         TN         13           0425-1541         INLETS, DT BOT, TYPE 0, <10'	NUMBER         DESCRIPTION         UNITS         QTY.         PER UNIT (\$)           0120-6         EMBANKMENT         CY         239         \$85.00           0160-4         TYPE B STABILIZATION         SY         136         \$58.00           0285701         OPTIONAL BASE, BASE GROUP 01         SY         136         \$71.15           0334-1-52         SUPERPAVE ASPHALTIC CONCRETE, TRAFFIC B, PG76-22         TN         8         \$395.00           0337-7-81         ASPHALT CONCRETE FRICTION COURSE, TRAFFIC B, FC-12.5, PG 76-22         TN         13         \$477.00           0425-1541         INLETS, DT BOT, TYPE 0, <10'	NUMBER         DESCRIPTION         UNITS         QTY.         PER UNIT (\$)         PRICE (\$)           0120-6         EMBANKMENT         CY         239         \$85.00         \$20,315.00           0160-4         TYPE B STABILIZATION         SY         136         \$58.00         \$7,888.00           0285701         OPTIONAL BASE, BASE GROUP 01         SY         136         \$71.15         \$9,676.40           0334-1-52         SUPERPAVE ASPHALTIC CONCRETE, TRAFFIC B, PG76-22         TN         8         \$395.00         \$3,160.00           0337-7-81         ASPHALT CONCRETE FRICTION COURSE, TRAFFIC B, FC-12.5, PG 76-22         TN         13         \$477.00         \$6,201.00           0425-1541         INLETS, DT BOT, TYPE 0, <10'	NUMBER         DESCRIPTION         UNITS         QTY.         PER UNIT (\$)         PRICE (\$)         PER UNIT (\$)           0120-6         EMBANKMENT         CY         239         \$85.00         \$20,315.00         \$157.00           0160-4         TYPE B STABILIZATION         SY         136         \$58.00         \$7,888.00         \$45.00           0285701         OPTIONAL BASE, BASE GROUP 01         SY         136         \$71.15         \$9,676.40         \$47.00           0334-1-52         SUPERPAVE ASPHALTIC CONCRETE, TRAFFIC B, PG76-22         TN         8         \$395.00         \$3,160.00         \$498.00           0337-7-81         ASPHALT CONCRETE FRICTION COURSE, TRAFFIC B, FC-12.5, PG 76-22         TN         13         \$477.00         \$6,201.00         \$428.00           0425-1541         INLETS, DT BOT, TYPE 0, <10'

### MORGAN JOHNSON ROAD SIDEWALK FROM 18 AVE E TO 13 AVE E- FDOT LAP PROJECT

C-Squared Certified General
Contractor, Inc. Gator Grading & Paving, LLC

				Conti	actor, inc.	Gator Grading & Faving, LLC		
PAY ITEM NO.	FDOT ITEM NUMBER	DESCRIPTION	UNITS	QTY.	BID PRICE PER UNIT (\$)	TOTAL BID PRICE (\$)	BID PRICE PER UNIT (\$)	TOTAL BID PRICE (\$)
25	0430830	PIPE FILLING AND PLUGGING- PLACE OUT OF SERVICE	CY	10	\$260.00	\$2,600.00	\$570.00	\$5,700.00
26	0430982629	MITERED END SECTION. OPTIONAL - ELLIPTICAL / ARCH, 24" CD	EA	1	\$1,600.00	\$1,600.00	\$1,980.00	\$1,980.00
27	0522-1	CONCRETE SIDEWALK AND DRIVEWAYS, 4" THICK	SY	771	\$37.35	\$28,796.85	\$45.00	\$34,695.00
28	0522-2	CONCRETE SIDEWALK AND DRIVEWAYS, 6" THICK	SY	578	\$53.85	\$31,125.30	\$63.00	\$36,414.00
29	0524-1-1	CONCRETE DITCH PAVT, NON REINFORCED, 3"	SY	21	\$230.00	\$4,830.00	\$70.00	\$1,470.00
30	0527-2	DETECTABLE WARNINGS	SF	51	\$43.00	\$2,193.00	\$49.00	\$2,499.00
31	0570-1-2	PERFORMANCE TURF, SOD	SY	3595	\$3.05	\$10,964.75	\$3.80	\$13,661.00
32	1080-21500	UTILITY FIXTURE, VALVE/METER BOX, ADJUST	EA	12	\$271.00	\$3,252.00	\$480.00	\$5,760.00
33	0700-1-50	SINGLE POST SIGN, RELOCATE	AS	1	\$250.00	\$250.00	\$350.00	\$350.00
34	0711-11123	THERMOPLASTIC, STANDARD, WHITE, SOLID, 12" FOR CROSSWALK AND ROUNDABOUT	LF	111	\$11.50	\$1,276.50	\$8.00	\$888.00
		TOTAL BASE BID - Based on Completion Time of 300 Calendar Days				\$519,122.05		\$535,465.00
35		CONTRACT CONTINGENCY WORK (USED ONLY WITH COUNTY APPROVAL)			6 OF TOTAL BASE BID	\$51,912.21		\$53,546.50

### MORGAN JOHNSON ROAD SIDEWALK FROM 18 AVE E TO 13 AVE E- FDOT LAP PROJECT

		C-Squared Certified General Contractor, Inc.			Gator Grading & Paving, LLC			
PAY ITEM NO.	FDOT ITEM NUMBER	DESCRIPTION	UNITS	QTY.	BID PRICE PER UNIT (\$)	TOTAL BID PRICE (\$)	BID PRICE PER UNIT (\$)	TOTAL BID PRICE (\$)
		TOTAL OFFER FOR BID with Contract Contingency - Based on Completion Ti 300 Calendar Days	me of			\$571,034.26		\$589,011.50

<sup>\*\*</sup> Note- Bid response received from Westra Construction Corp. has been deemed non-responsible for not being FDOT pre-qualified in the category of sidewalks, as required by bid documents.

### MORGAN JOHNSON ROAD SIDEWALK FROM 18 AVE E TO 13 AVE E- FDOT LAP PROJECT

C-Squared Certified General	
Contractor, Inc.	Gator Grading & Paving, LLC

		Contractor, inc.		dator drauling & raving, LLC			
FDOT ITEM NUMBER	DESCRIPTION	%	MBE/ DBE	Description of Work by Subcontractor	%	MBE/ DBE	Description of Work by Subcontractor
0101-1	MOBILIZATION	15	DBE	Survey-As Built/Mobilization			
0102-1	MAINTENANCE OF TRAFFIC						
0102-60	WORK ZONE SIGN				100		furnish & install
0102-62	BARRIER MOUNTED WORK ZONE SIGN- INDEX 11871				100		furnish & install
0102-74-1	CHANNELIZING DEVICE- TYPES I, II , 01. VP, DRUM, OR LCD				50		furnish
0102-74-7	CHANNELIZING DEVICE- PEDESTRIAN LCD (LONGITUDINAL CHANNELIZING DEVICE)				50		furnish
0104-10-3	SEDIMENT BARRIER						
0104-18	INLET PROTECTION SYSTEM						
0107-1	LITTER REMOVAL						
0107-2	MOWING						
0110-1-1	CLEARING & GRUBBING						
0110-7-1	MAILBOX, F&I SINGLE						
	0101-1 0102-1 0102-60 0102-62 0102-74-1 0102-74-7 0104-10-3 0104-18 0107-1 0107-2 0110-1-1	ITEM NUMBERDESCRIPTION0101-1MOBILIZATION0102-1MAINTENANCE OF TRAFFIC0102-60WORK ZONE SIGN0102-62BARRIER MOUNTED WORK ZONE SIGN-INDEX 118710102-74-1CHANNELIZING DEVICE- TYPES I, II, 01. VP, DRUM, OR LCD0102-74-7CHANNELIZING DEVICE- PEDESTRIAN LCD (LONGITUDINAL CHANNELIZING DEVICE)0104-10-3SEDIMENT BARRIER0104-18INLET PROTECTION SYSTEM0107-1LITTER REMOVAL0107-2MOWING0110-1-1CLEARING & GRUBBING	ITEM NUMBER DESCRIPTION %  0101-1 MOBILIZATION 15  0102-1 MAINTENANCE OF TRAFFIC  0102-60 WORK ZONE SIGN  0102-62 BARRIER MOUNTED WORK ZONE SIGN-INDEX 11871  0102-74-1 CHANNELIZING DEVICE- TYPES I, II, 01. VP, DRUM, OR LCD  0102-74-7 CHANNELIZING DEVICE- PEDESTRIAN LCD (LONGITUDINAL CHANNELIZING DEVICE)  0104-10-3 SEDIMENT BARRIER  0104-18 INLET PROTECTION SYSTEM  0107-1 LITTER REMOVAL  0107-2 MOWING  0110-1-1 CLEARING & GRUBBING	FDOT ITEM NUMBER DESCRIPTION % DBE  0101-1 MOBILIZATION 15 DBE  0102-1 MAINTENANCE OF TRAFFIC  0102-60 WORK ZONE SIGN  0102-62 BARRIER MOUNTED WORK ZONE SIGNINDEX 11871  0102-74-1 CHANNELIZING DEVICE- TYPES I, II , 01. VP, DRUM, OR LCD  0102-74-7 CHANNELIZING DEVICE- PEDESTRIAN LCD (LONGITUDINAL CHANNELIZING DEVICE)  0104-10-3 SEDIMENT BARRIER  0104-18 INLET PROTECTION SYSTEM  0107-2 MOWING  0110-1-1 CLEARING & GRUBBING	FDOT ITEM NUMBER  DESCRIPTION  MBE/DBE  DESCRIPTION  15 DBE  Survey-As Built/Mobilization  16 DBE  Survey-As Built/Mobilization  17 DBE  DESCRIPTION  DID:-1 MAINTENANCE OF TRAFFIC  DID:-2-60 WORK ZONE SIGN  DID:-62 BARRIER MOUNTED WORK ZONE SIGN-INDEX 11871  DID:-74-1 CHANNELIZING DEVICE- TYPES I, II, 01. VP, DRUM, OR LCD  CHANNELIZING DEVICE- PEDESTRIAN LCD (LONGITUDINAL CHANNELIZING DEVICE)  DID:-74-7 CHANNELIZING DEVICE- PEDESTRIAN LCD (LONGITUDINAL CHANNELIZING DEVICE)  DID:-74-7 LITTER REMOVAL  DID:-74-7 LITTER REMOVAL  DID:-74-7 MOWING  DID:-74-7 LITTER REMOVAL  DID:-74-7 MOWING  DID:-74-7 MOWING  DID:-74-7 MOWING  DID:-74-7 MOWING  DID:-74-7 MOWING	TITEM NUMBER DESCRIPTION % BBE Description of Work by Subcontractor % DBE Survey-As Built/Mobilization 10101-1 MOBILIZATION 15 DBE Survey-As Built/Mobilization 10102-1 MAINTENANCE OF TRAFFIC 10102-60 WORK ZONE SIGN 100 10102-62 BARRIER MOUNTED WORK ZONE SIGN-INDEX 11871 100 10102-74-1 CHANNELIZING DEVICE- TYPES I, II , 01 VP, DRUM, OR LCD 50 10102-74-7 CHANNELIZING DEVICE- PEDESTRIAN LCD (LONGITUDINAL CHANNELIZING DEVICE) 50 10104-10-3 SEDIMENT BARRIER 10104-18 INLET PROTECTION SYSTEM 10107-1 LITTER REMOVAL 10107-2 MOWING 1010-1-1 CLEARING & GRUBBING 150 DEVICE	POOT   ITEM   NUMBER   DESCRIPTION   %   MBE/ DESCRIPTION   % DESCRIPTION

### MORGAN JOHNSON ROAD SIDEWALK FROM 18 AVE E TO 13 AVE E- FDOT LAP PROJECT

C-Squared Certified General	
Contractor, Inc.	Gator Grading & Paving, LLC

			<u></u>		intractor, inc.	dator drading & raving, LLC		
PAY ITEM NO.	FDOT ITEM NUMBER	DESCRIPTION	%	MBE/ DBE	Description of Work by Subcontractor	%	MBE/ DBE	Description of Work by Subcontractor
13	0120-1	REGULAR EXCAVATION						
14	0120-6	EMBANKMENT						
15	0160-4	TYPE B STABILIZATION						
16	0285701	OPTIONAL BASE, BASE GROUP 01						
17	0334-1-52	SUPERPAVE ASPHALTIC CONCRETE, TRAFFIC B,PG76-22						
18	0337-7-81	ASPHALT CONCRETE FRICTION COURSE,TRAFFIC B, FC-12.5, PG 76-22						
19	0425-1541	INLETS, DT BOT, TYPE 0, <10'						
20	0425-2-61	MANHOLES, P-8, <10-						
21	0425-2-71	MANHOLES, J-7, <10'						
22	0430175118	PIPE CULVERT,OPTIONAL MATERIAL,ROUND, 18"S/CD						
23	0430175218	PIPE CULVERT,OPTIONAL MATERIAL,OTHER-ELIP/ARCH, 18:S/CD						
24	0430175224	PIPE CULVERT,OPTIONAL MATERIAL,OTHER SHAPE-ELIP/ARCH, 24"S/CD						

### MORGAN JOHNSON ROAD SIDEWALK FROM 18 AVE E TO 13 AVE E- FDOT LAP PROJECT

			C	•	ed Certified General ontractor, Inc.	Gator Grading & Paving, LLC		
PAY ITEM NO.	FDOT ITEM NUMBER	DESCRIPTION	%	MBE/	Description of Work by Subcontractor	%	MBE/ DBE	Description of Work by Subcontractor
25	10430830	PIPE FILLING AND PLUGGING- PLACE OUT OF SERVICE						
26	0430982629	MITERED END SECTION. OPTIONAL - ELLIPTICAL / ARCH, 24" CD						
27	0522-1	CONCRETE SIDEWALK AND DRIVEWAYS, 4" THICK				100		furnish & install
28	0522-2	CONCRETE SIDEWALK AND DRIVEWAYS, 6" THICK				100		furnish & install
29	0524-1-1	CONCRETE DITCH PAVT, NON REINFORCED, 3"				100		furnish & install
30	0527-2	DETECTABLE WARNINGS				100		furnish & install
31	0570-1-2	PERFORMANCE TURF, SOD	100	DBE	Sod	100		furnish & install
32	1080-21500	UTILITY FIXTURE, VALVE/METER BOX, ADJUST						
33	0700-1-50	SINGLE POST SIGN, RELOCATE						
34	0711-11123	THERMOPLASTIC, STANDARD, WHITE, SOLID, 12" FOR CROSSWALK AND				100		furnish & install

This bid form is a duplication of the bid items where the Bidder shall state the percentage (%) of work of each item listed and a brief description of the work that shall be performed by the subcontractor.

ROUNDABOUT